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INSTRUCTIONS AND INFORMATION:

1. Answer ALL questions in the space provided.
2. Follow instructions in each question carefully.
3. Show All your calculations clearly.

4. Write neatly and legibly

5. This question paper consists of 5 pages.
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Question 1

Whole numbers.

Multiple choice

1

Circle the letter of the correct answer.

111

Eight hundred and forty three can also be presented as:

(1)

A. 483
B. 384
C. 834
D. 843

1.1.2

What must be added to 78 to make 90?

(1)

A. 12
B. 22
C.14
D.2

1.1.3

The number 235 rounded off to the nearest 100 will be:

(1)

A. 230
B. 200
C. 300
D. 240

1.14

The value of the underlined number in this digit 893 is

(1)

A.0,9
B. 90
C.9
D. 900

1.15

Four hands have 20 fingers. How many hands have 35 fingers?

(1)

A.6
B.8
C.9
D.7
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1.2 | Replace with the correct sign >, < or = to compare the number below: | (1)

1276 1267
1.3 | Arrange the following numbers in ascending order.
708, 798, 703, 789, 756, 742 (2)
1.4 | Count forward in 5s from 863 to 878. (2)
863, ; ; 878

1.5 | Complete the table below, by filling in the missing information.

Number Odd or Even Place value of | 200 more than (3)
digit 3 the number
4368
(13)
Question 2

Number Sentences.

2.1 | Say whether the following number sentence is True or False

1)
25+ 12 =12 +25

2.2 | Complete the number sentence below. (1)

125; 100; ; 125

2.3 Write the number sentence below and work out the answer.

My mom is 35 years old and my dad is 45 years old. What is the sum | (2)
of their ages?

2.4 | Complete the following by filling in the missing values.

2.4.1 | (20+30) +40 = and (40 +20) + 30 = 90 (1)

3|Page




2.4.2 | (25 +15) + = 80 and 25 + (40 +15) = 80 (1)

(6)
Question 3
| |
Addition and Subtraction.
3. Add and subtract by using breaking down method.
3.1 | 7476 + 1322 (2)
3.2 |547-187 (2)
3.3 | Check your answers for each of the above calculations, using the
opposite operation.
3.3.1 (2)
3.3.2 (2)
(8)

Question 4
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Problem solving:

4. If 12 chocolates cost R120.
4.1 | How much will 7 chocolates cost? (2)
4.2 | Lebo wants to buy 25 chocolates for her friends on her birthday. How | (1)
much money will she need to buy the chocolates?
3)
30
GRAND TOTAL:
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